
81-K 2 CCE  RR  

   (21)801-RR(B)  

I. 

 8 × 1 = 8 

1. A  B 

 

 (A) ( A   B ) l  =  A l    B
l   

 (B) ( A   B ) l  =  A l    B
l
  

 (C) ( A   B ) l  =  A l    B
l   

 (D) ( A   B ) l  =  ( A   B ) l  

2. 10
CC nn    

 (A) 1 (B) n  

 (C) n ! (D) 0 

3. 1  6 

4  

 (A) 
6

4
 (B) 

6

3
 

 (C) 
6

2
 (D) 

6

1
  

4.  13 5·2 

 

 (A) 20 (B) 30 

 (C) 40 (D) 50 



CCE  RR  3 81-K 

   (21)801-RR(B)  [ Turn over 

5. 523      523     

 (A) 2x  – 6x – 11  =  0  

 (B) 2x  + 6x – 11  =  0 

 (C) 2x  + 6x + 11  =  0  

 (D) 2x  – 11x + 6  =  0 

6. tan A =  
4

3
   sin A  

 (A) 
5

3
  

 (B) 
3

4
 

 (C) 
5

4
  

 (D) 
3

5
 

7.  ( x,  y )  

 (A) 22 yx    

 (B) 2)( yx   

 (C) 2)( yx     

 (D) 22 yx   



81-K 4 CCE  RR  

8. P A ( 1, 4 )  B ( 3, 6 ) 

P   

 (A) ( 4,  10 )  

 (B) ( 2,  10 ) 

 (C) ( 2,  5 ) 

 (D) ( 4,  5 ) 



81-K 2 CCE  RR  

   (21)501-RR(A)  

I. 

 8 × 1 = 8 

1. n 5n + 3 3  

 (A) 11 (B) 18 

 (C) 12 (D) 13 

2. O  PA, PC  CD AP = 3  

CD = 5 PC  

 

 (A) 3  (B) 5  

 (C) 8  (D) 2  

3. 0
111
 cybxa   0

222
 cybxa  

 

 (A) 
2

1

2

1

2

1

c

c

b

b

a

a
  (B) 

2

1

2

1

2

1

c

c

b

b

a

a
  

 (C) 
2

1

2

1

2

1

c

c

b

b

a

a
  (D) 

2

1

2

1

2

1

c

c

b

b

a

a
  

4.  ( x,  y )  

 (A) 
22 yx   (B) 22 yx   

 (C) 
22 yx   (D) 22 yx   



CCE  RR  3 81-K 

5. 72  120 24  

 (A) 36 (B) 720 

 (C) 360 (D) 72 

6. sin 30º + cos 60º   

 (A) 
2

1
 (B) 

2

3
 

 (C) 
4

1
 (D) 1 

7. y = P ( x )  

  

 (A) 4 (B) 3 

 (C) 2 (D) 7 

8. 1  6 

 

 (A) 
6

3
 (B) 

6

1
 

 (C) 
6

2
 (D) 

6

4
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